EH 22123.

! = om K o
e ®OD o o n o
50 = Jdiol M % 3 M &0
Qi TRl H = o H
IS ol Nyjp < Eles
@ Bolgy oM W ok K P
I pod Wo g g A “Wor e
ol N T m Hil 53
[ == .0l ® o < ™ K
N FoZWBEZ om R i) oo i 92
- Sl D~ ¢ x ol =ol's
_QEEEJ T oo : T ol
. Juo< .o N ol m T i |
oo TWEmor <ol W W i H
o K42 x N oF . Ko 1o i
1o Ao Mtron i  wBE T ~ X
N M SR PEYalm s Wmo W F
il 5] JwXTwI EMIm g W o5 @ W
olgr Tx¥oXToxodxy wnm  FUHI » I OF
W o EWIDSIRIg . owow o_gxmn ol s R %
W 0 TOMF QTS sR0Eo 1 MTE B ¢ a &= [
%my"& K ==& m Mo KzZNE TS T oG ok,
2T %
< 1o
oF Ml r
X oy
S 3
Hol Y 2
nE® r b =
X g W0 LH < 2
R o O o HO [
K iy o =]
3l 5 o = - o
=a N R = wl = n
200l =z 0 Ite) £l < T =
2 Q 4 0 4 ol N
al I — @ @ i)
== N < < <o il <
ol %k m - - Hu N ]
o K — — ) =~ 3 u
i /| 3 s A
p J & % £
B0 ml <K < <« o w ¥ g W
w MTe T T <4 K4 Uy
w I%%F _T BT Sw omy ot @ J7
X EXX RIC® < mo<l woHm S 30 T30 XH Ao«
R o™= Z ., w, 4. . . ™., @@,

HO|X|1~2]3
IHAl: 14.3.2024

NHALDER




7AW R|2 RE
QleiA BRIX|/ Qleis BE

— —_—

a3
ds
L
T I
L o B o
i
il [¢]
-
-y I
7
7 m
7 |
7
| < B
! .~ g HE
& 1SO 8765
2
d,
d, Fy a3 1 b
21
8
n
w - =
[+Te] -
T
39
1
| 500
1 2
/ \\ LED e
L A / Ma=0.1 Nm
SwW=13
F2 3
x5 ws Az & [ 1 NE #3.
dy d; I d; Iy I3 Iy Fy F» EES Z|cH
-0,02 EIPS
-0,05
[mm] [mm] [N] [°C] [g]
&Fo| A, B3ER s -8 1
4 M 8x1 6 16 41,5 16 11,5 10 4,0 12,5 -25 75 34 22123.0004
5 M10 x 1 8 19 46,5 18 12,5 12 5,0 18,0 -25 75 46 22123.0005
6 M12x 1,5 9 23 54,5 22 12,5 14 6,0 25,0 -25 75 62 22123.0006
8 M16 x 1,5 12 28 64,5 26 14,5 17 8,5 28,0 -25 75 105 22123.0008
10 M16 x 1,5 12 28 64,5 26 14,5 17 9,5 38,0 -25 75 106 22123.0010
12 M20 x 1,5 15 33 78,0 33 16,5 22 11,5 40,0 -25 75 200 22123.0012
16 M24 x 2 20 33 85,0 38 18,5 27 13,0 54,0 -25 75 296 22123.0016
£zo| A EHIFR UAS -8 2
4 M 8x1 6 16 41,5 16 11,5 10 4,0 12,5 -25 75 34 22123.0104
5 M10 x 1 8 19 46,5 18 12,5 12 5,0 18,0 -25 75 49 22123.0105
6 M12x 1,5 9 23 54,5 22 12,5 14 6,0 25,0 -25 75 66 22123.0106
8 M16 x 1,5 12 28 64,5 26 14,5 17 8,5 28,0 -25 75 112 22123.0108
10 M16 x 1,5 12 28 64,5 26 14,5 17 9,5 38,0 -25 75 117 22123.0110
12 M20 x 1,5 15 33 78,0 33 16,5 22 11,5 40,0 -25 75 206 22123.0112
16 M24 x 2 20 33 85,0 38 18,5 27 13,0 54,0 -25 75 313 22123.0116

oo|x|2~2|3

EEHALDER IHAl: 14.3.2024


http://halder.com/kr/22123.0004
http://halder.com/kr/22123.0005
http://halder.com/kr/22123.0006
http://halder.com/kr/22123.0008
http://halder.com/kr/22123.0010
http://halder.com/kr/22123.0012
http://halder.com/kr/22123.0016
http://halder.com/kr/22123.0104
http://halder.com/kr/22123.0105
http://halder.com/kr/22123.0106
http://halder.com/kr/22123.0108
http://halder.com/kr/22123.0110
http://halder.com/kr/22123.0112
http://halder.com/kr/22123.0116

HE o

<F
K

K0

RoHS &

A
T

XI& 2011/65/EU X X|E 2015/863 &

ol

oj=
l.

Al
(=]

o
kil

SVHCH

=22
==.

-2024'4 18 23 SVHC

Xl o=
= BAE=

SE SVHC

F

=1
=

0.1% w/w Ol

ol v
=ig

o]

1o
o
I+
ol o
Ul ul

O OH
3 E

Al
Kl
Ol
20 X
U
ok ol

3 SH=2
https://www.P65Warnings.ca.gov/

5
e

[
—
(o]
=

A
Ea
A
=

RIS

o

5

0a

1o
ol
H
O
=

=

IH

Ho|X|3~2|3
JHAl: 14.3.2024

NHALDER



